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Go, return them — TR V9T

OVERVIEW

The 217 of *¥77m1 as well as X2 12 X7 21 ruled that a MY can collect the 72y
from the 20 as payment for his loan (presumably because 27 ¥papnd >72v; and the
D72V are TWWN to the ; it was a w2 Mo).! However 1" ordered them to reverse
their ruling and have the m>n return the 2°72v back to the 07, since YpPPHI WY 272y
"1. The question here is why they had to reverse their ruling. If a 71 7°7 makes a
mistake in his estimation of the law; the ruling remains.” o0 will explain this.

$NIYN 9373 NPV IND YN
He (3211 27) considered them (the Xy77717 °1°°7 and X17°2 72 X177 27) as one who is

mistaken in a ruling of a mwn. The rule is if a 17 rules against a mawn,” then the ruling is
nullified. It is considered as if there was no ruling; and all monies collected or transferred must
be returned to the original owners. 1"7 was of the opinion that if someone ruled that >vpapnd >72y
'n7 (and therefore the 72¥ can be collected 2 mn° °031n) it is as if he ruled against a 7°7 of the mwn.
It was so obvious to 1"7 that (concerning this issue) 72¥ is not 27 *¥pIpnd, that he considered
them to be m1wn 1272 . Therefore he told them that they should see to return the 72y back to
the om1n°, who are the original owners.

SUMMARY
There are certain rulings that are so obvious; that opposing them is considered as
7awn 1272 7w (and the poo is Hv2).

THINKING IT OVER

1. Why should the m>» be required to return the 72y, even if we assume that they
were Twn 7272 Avw? The om0 were already WX once the P02 was given and the
mn took possession of the 7ay!*

2. Why did not 1111 21 order the m»n to return the 72y to the 2mn*?

" If we maintain X7 X729 then this ruling would apply even by a 2"y mn.

% The 17 will have to pay the aggrieved party. Here however 1" insisted that they return the 72v; meaning that the
ruling is void.

? In the times of the XX if one was 7IWwn 7272 7¥W (which was the ultimate authority in those days) the po» is
Sva. The same applies in later generation; if a 17 is 7y in a 73%7 which is clearly accepted by the o°pow (for
instance if it is so ruled in the "W without a nP1217) it is considered as 71wn 9272 70 and the PO is Y02

* See 6 R A"pK.

> See p"nuw.
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